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10/138 78 | 0.4 27 36 190 p 6ypenom,
Crapokytceke ITH/IB 20 18 0,1 10T 50 |0.35 1 15 14 50 nicu HITMI| CBP e e 20 He BusBieHO
Pasom 0,1
Kocisceke ITH/IB 5112 | 8,0 662 Ane2bxn+13 100{0,6 | 1a| 32 52 Jlicu HITII| CBP yléfgg:iﬂ 14 He BusiBieHO
Kociscske TTH/IB 5|13 |37 61162 Ane2bxr+I3 100[0,651a| 34 52 Tica HITII| CBP ygzig;ig 6 He BusieneHo
Kocisceke [THIB 5 14 0,9 9561 Bxn+Ane+3 110/ 0,6 | 1a 32 52 Jlicu HITIT CBP yggiggtx 20 He BussieHo
Kocieceke ITH/IB 141 10 | 9,1 6162 SIne2 bxun+]13 120{0,7 1 32 48 Jicu HITII| CBP ygzigﬁ;ﬂ 20 He BussneHo
Kociscske [TH/IB 14| 13 |11,5 105Iu6+Mae+SIne+bxn  {100/0,6| 1 | 30 36 Jlicu HITI| CBP y‘c‘;’g;‘{iﬂ 8 He BusBeHo
Kociscske ITHJIB 18| 20 | 2,5 105I1e+C3 43106(1a| 19 22 Jicu HITII| CBP y‘;;’riz;iﬁ 10 He BUsiBIICHO
Paszom 35,7
. Oypenom,
lewopceke ITH/IB 10 12 | 1,3 10Bbxn 5510,75| 1 Jicu HITII| CBP ko 30 He BusBieHo
[ewopceke ITHIB 14 | 19 | 6,7 41062 Ane1Mnel C32bkn+I3/ 68 (0,4 | 1a Jlicu HITII| CBP Kopoix, 13 He BusiBICHO
YCHXaHHS
Illemopcrke [THIB 30 | 30 | 3,5 55Ane3bxn2516 9010,6| 1 Jlicu HITII| CBP y:gzg::;ﬂ 36 He BusieHO
lemopceke ITHIB 331 1 14,1 10bxn 550,65| 1 Jlicu HIIIT| CBP ?}?;:g:::; 22 He BusiBeHO
[lemopcrke ITH/IB 371 19 | 3,0 6511164 511e 7310,5] 1 Jlicn HITII| CBP y:gigi{ix 23 He BusiBneHO
Wewopceke [THAB 41 6 1,6 95Ine13+bxkn 4210,5]| 1a Jlicu HITII| CBP ygﬁzz:ﬁ’m 66 He BuABIEHO
Hicmopeske ITHAB 46 | 21 1,0 1051ne 14010,8| 2 Jica HIHT|  CBP AKO?'OM' 66 He BusiBiIeno
i 2 i 2 { VCHXaHHS
Uicwmopeske ITHAB i 49 ‘ 35 1,1 1041¢ Jlicu Hﬂﬂ; CBP \lc\ﬁsj:im 35 He sussieno
) Pasom - 22,31 i
Besoro ne HIHT « vay. i 58,1
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